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‘S e T ST HH’ | G e,
(A) IFA (B) AT (C) e (D) ITRTHI
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138, WRA ¥ GST Hied H A=Al (o) I e & : |
The number of structures in India’s GST model is :
A, 3 B <o) 6 (D) 4
39. WTO ¥ S0 HeIeeh i & ? A e '
(A) AR ' {iB) wAlsr St @
(C) =it RIS | @D) FSfea Mived
Who is the current Director-General of WTO, ? ¥
(A) * Eric Bettinger. - . O 7 ¢#{B) Hemando de Soto
(C) Ngozi Okonjo-Iweala dD) Claudia Goldin _
40. TR SURIH T SRS e g feraT T o 2 ;
A) Wit  (B) wmfem Qo) fexad (D) TR
The celebrated novel ‘The Godfather’ was authored by whom ? '
(A) Harold Robbins: ' (B) John Milton , (C) VictorHugo = (D) Mario Puzo
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(A) WWW@WWM (B) T SIS AW (SARHTA @It 1)
(C) T STHISE HeR (TITAT Tl HEA) <P Tgae RS et (Pt @ gem)

" 'What is the full form of PAN ? :
(A) . Personal Account Number PRy B) Personal Account Name
" * . (C) Permanent Account Number ) Private Account Number
42. Pm*a%mﬂammra%w Tt e%ra'a; arf‘nﬁa@o a&a?rarrgaamaqgmf 3,000 nﬁruﬁﬁmm
FATR ?
(A U e AT “1B) WWW
(C) wu wft Sfe A sfmr T D) eI W 5 At A

Which Indian scheme aims to provide a pension t@norgamzed workers assunng a minimum pensmn ol
¥ 3,000 per month after the age of 60 years ?
(A) Pradhan Mantn Vaya Vandana Y0_| ana (B) National PCHSIOH System
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“The Chronicles qf Narnia” seriesqi:rwﬂrigtf;n by whorr(lc':?)""6 Nk (B T

((E,A;)q, ';TR:;;;:;?H% m%?gg)gcs'- Lewgs | (¢ Roald Dahl (D) J.K.Rowling
Wﬁﬁﬁw%méﬁmﬁﬁf@:ﬁraﬂm%: %Th?ﬁ S 1 R Sl
(A) - ST SEET 8, (Bt & SEET G |

(D) froTTeneh SEEAT &

* or immigration’ being equal to the number of

(C) Y SHaE If&
The number of people entering a population through ‘bj
people leaving it via ‘emigration’ or ‘death’ is called :
(A) Positive population growth (B) Rapid population growth

(C) Zero population growth (D) Negative population growth

muﬂwaﬁﬁaﬁrmﬁimmzﬁnamaﬁmaﬁmw%?

(A) T T e STRTOT S (B) 1w G
(C) Wi SIEH-SEH & STl <t (D)@?ﬁ?:ramﬁmﬁﬁm:rm
i, Cooperation (ITEC) programme ?

What is the purpose of the Indian Technical and Econo
(A) Providing technical assistance and training (B‘;%nhancing military cooperation
(C) Promoting cultural exchanges (D)MRegulating financial markets

gﬁﬁmmﬁ%ﬁﬁwmﬁaﬁeﬁﬁ%: ,
(B)Glmwrtzﬁfﬁ__“t

(A) T IS |

() A Tt S A -

The primary source of energy for the Earth’s climate systeqn is : '

(A) Nuclear energy ' (B)@Pcean currents
- " +(D) The Sun

(C) Geothermal energy
mﬁﬁ?ﬁumwathﬁawwmmw%? ;

&) fomst (B) ©&%
() wumFEAr \ 5 (D) Tegafdl
Who has the authority to declare a financial emergency inJndia ?
(A) The Finance Minister ' (B)~The Parliament
(C) The Prime Minister . . B A (Okghe President _
e e G I W AT AT by, e 3 S st
7 Ferie T 3 AR el T A € | ) _
(A) G (B) =g O Siuus] (D)« IR @R
Facebook customers can find out about special offers angon-demand promotions via , one of the
most important social media marketing tools. <l\ .
A SocialOomph (B) - Chattypeople (C) ™Agorapulse (D) Post Planner
ﬁﬂﬁ—lf@?rﬁﬁaﬁuﬁaﬁm?ﬁmw%? - il

- (A) FeeEe (B), TSRITET (C)« TTHT (D) gaT
Which of the following is the capital of Bangladesh ?

A Sylhet (B) Rajshahi (C) Dhaka (D) Khulna

) ﬁa&ﬁﬂﬁ?ﬁ‘m@ﬁ@ﬂ“@wml faw FeedTRTSIIE ?

(A 6°H ) A C(©) 4vH (D) .5 HTE
Which day is observed as the ‘International Disarmament and Non-Proliferation Awareness Day’ every
year ? Lo R : ; .

L et D) T e O S Ml D) 5™ March
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(A) T RSt weTrs statisia gan |

(B) UER IoOTHITS Uee AT gaTs <

(C) chITiTeT eI TS 37gsT

©) R O % g
Recently, which Indian airport received re ition at UNESCO’s 2023 Prix Versailles ?
(A) Chhatrapati Shivaji Maharaj Internatjopal Airport ' '

(B) Sardar Vallabhbhai Patel Internati on{lojglrporl

(C) Kempegowda International Airport

(D) Indira Gandhi International Airport

T TTSCH WS SR U [ o TEeh hi § 7

(A) TuEhE e R (B) ®ichts, Grersit
(C) .. FoT 372N, N ' (D) g eft '
Who is the author of the book “Human Rjg/hls and Inhuman Wrongs” ?
(A) ' Chiranjivi Nirmal ©F .. . (B) SoliJ. Sorabjee
(C) V.R. Krishna Iyer {J (D) UperdraBaxi

aﬁqmaﬁgﬁaaﬁmaﬁﬁhﬁw% %Qﬁrﬁmwa%ﬁmﬁ%qudaﬁmwmaaﬂ%ﬁmﬁ
NS 9T T T A WHEA R 2

A) wfpETewE @ (@ e

(C) Ufmawsar y 4 (D) F FHiet |

Which international agreement focuses or@e protection of the ozone layer by phasmg out the production
of numerous substances responsible for ozone depletion ?

(A) Montreal Protocol - (B) Geneva Convention

(C) Paris Agreement _ ' (D) Kyoto Protocol

T ITEX S W & oreh! SIHEEAT - asfmRr - '
A) 5 T - (B). 1511‘41%m=r<] (C) .+ 10 fafem . (D) 20 fuferm

Mega cities are the cities havmg a populat}% more than N | _
(A) 5 million (B) 15 million ~ (C) 10 million . (D) 20 million
- = i @Erd%lsﬁ aﬁh@!@wm’f T STEAT T T |
A) ™ | (B) ®efre (C) TT&E (D)- T
Trojan virus was released on nugfierous SolarWinds Orion Platforms.
(A) Ransom (B) Rootkit (C) SUNBURST D) Spy
el 36 U GO FHIT-eAE (3 FETE) HT FLIA € 2 - |
(A) rﬁs-am (B) hiciferdl (C) ~ Ufemm D) T
What is the name of Earth’s first super continent ? _
(A) Gondwana (B) Columbia (C) Pangea _ (D Vanlkica
ﬂqmwaﬁm%mnﬁaﬁmﬁaéﬁﬁﬁmaﬂtmmméo '
(A) foper SR G (B) HIH g
| (D) ST s

(©) ~fagd®

Which organization provides loans and grants to the world’s poorest devel()pmg countries ?
(A) World Trade Organization ~ (B) United Nations ' '

(C) *World Bank (D) International Monetary Fund pam
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- Which programme was
" and SC/ST communities ?

-----------------------

331 1 T ST PR sTaeRen & gnia e |

(A) ~3TEET
©

(A) Untouchability
(C) Economic system

o ad g R Rra e e F &0 F wmET @S ?

(©). ST T AT S ol SO &

Article 352 of the Indian Constitution primarily deals with:

(A) Proclamation of national emergency
(C) Proclamation of dissolution of the Lok Sabha

et 3 T/l (SC/ST)
fraT T AT ? :
() fefresfem (B) W 3fea

(A) Digital India (B) Start India

T T 6 ST 1336 3 o a0 Bl TS °f 2

(A) S TIH

(C) whex ST TR+

The Vijayanagara Empire was
(A) Devarayal '

(C) Harihara and Bukka

ferceft ohT e GodH i o1 ?
(A) s

©) FIEATHF

Who was the first Sultan of Delhi ?
(A) Balban Ji
(C) Qutb-ud-din Aibak
Tgere s @it e A ?

(a) fe frefe, _

(©) e @S

Who discovered Nitrogen ?. -
(A) Richard Gatling

(C) Daniel Rutherford =

founded in 1336 by :

s ﬁnﬁf@aﬂaaaq.mn@amqﬁa%?

is the GST common portal ?

Which of the following

(A) www.gov.in: (B) www.gst. in

——————————————————

In Vedas, human right is signified with the concept of o

launched by the Indian Government to promo

(B) TqHMEdT
(D) €HHdT

(B) Inequality
(D) Equality

(D) 153080

(A) 1330 (B) 1631+ (€) 1430«
Which day is celebrated as ‘World Art Day’ every year
N 13th April (B) 16M April (C)ﬂtﬂh April () 15t April
i A aede 32 qE Er d wara e ()
(A) « T STITeehIct 1 S0 & (BYS i Prgfs A o @
(D T4 3 7T B Ao |

roclamation of appointment of CJI
roclamation of the formation of a new state

B)
(D)

'wﬁﬁwﬁmﬁﬁméﬁ%%ﬁmwmﬁmmgﬁ

(D) We-377 3
te entrepreneurship among women

(©) fear SR

(C) $kill India (D) Stand-Up India

(B) |

O X

(B)Q\Iarasimha Saluva
(D) ishnadevaraya

(B Erersdi faersh

(D) g

(B) Alauddin Khilji
(D) Iltutmish

<
B)oFTet =1
(DY S SR
(B)%arl Benz .
(D)gé enjamin Franklin

<



66. |

67.

68.

69.

70.

71.

72.
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(A) ‘Fﬂ'ﬁﬁ
- (A) Mount Fuji

o e ¥ A 3R o qEE  FU A

Which institution released the report title
' Policy and Risk Management Measures in

o wefr =AY ‘s AT T TR 7

(B) WRETERE
Which mountain is called the ‘Blue Mountain’ ?
(B) Mount Everest -

SR HTE {47 ARTI ] 2

(A) T foreft duT T SATIR Hgfera graT 8 4
(B) Wmﬁéﬂﬁﬂﬁquﬁm o

(C) ~vrar foelt 37 3 31T vees Farta & s

(D)xaaﬁ?m%w%ﬁuhaa%ammﬁa@

What is meant by a ‘trade deficit’ ? o
(A) When a country’s trade is balanced

(B) When a country has no trade at all '
(C) When a country’s imports exceed 1tﬁports
(D) When a country’s exports exceed its

wm(muﬁiq%mﬁw
T FA & Pl r@reT FEI TR |
(A) - FEt A IETEEt  (B) fociH

Name the traditional form of wrestling in Uttar Pradesh (mclud

in a specially prepared mud pit called an Akhada.
(A) Kushti or Pehalwani  (B) S11amb@

O St 2

A) fegss - CO)

(B) T

(A) World Bank B) UNESCO
qequﬁa@meaw%aﬂumﬁa
A) a@neaﬁaaa;awﬁﬁ
(©) qwﬂaﬁrme-q?rgq:ﬁrﬁ

Earth’s Albedo is largely affected by the
A) Dust particles in the atmosphere _

(C) Nature of the Earth’s surface
e i G e g @t TS ot ?
(A) =T Sife.
(©) ImATA

The structure of DNA w
(A) Charles Darwin

%.?

as discovered by &om ?

B

ﬁmﬁﬁmﬁﬁgﬁmmmﬁqmﬂ
(A) WA RE & ®

Which bank supported the demonetization in India ?
(A) State Bank of India

-(C) Gregor Mendel

(©) it sl

(c) feure,

(C) . The Himalayas.-

GEINK
HEICK

'

ports
%mﬁmwmmwwmm%mﬁﬁ%@ﬁ

© Wg@" (D) TGS

ing other States), w]nch wrestlers practice

(C) ‘Kabaddi (D) Mallakhamb

W mwwmm%m@w s @

(C) THTA (FAO) (D) zwrs‘lﬂ (UNEP)

‘Sand and Dust Storms A Gulde to Mitigation, Adaptatlou,
grlculture’ ?

, (C)_ FAO (D) UNEP
(B)» Wmaﬁﬂ@mam)
(D) amqe?ﬂmrma .

(B) Cloudiness
(D) Atmospheric layer

(B) émamaﬁtmﬁam
(D) ﬁmﬁ—l@ﬁﬁﬁﬁ ®g

(B) James Watson and Francis Crick: -
(D) Rosalind Franklin -

(B) ﬁﬁmzﬁm
(D) ﬁaﬁems%w

(B) Bank of India -
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73. ﬁﬂ%ﬁaﬂﬁﬁﬁmmmﬁﬁéﬂmﬁmmqﬁma@%mwﬁwﬁﬁWhmﬁa% ?

(A) THRIT _ " (B) WRR
(C) & (D) WA
Which of the following cybercrimes involves deceiving individuals into revealing sensitive information ?
(A) Phishing q (B) Malware
(C) Hacking o2 (D) Cyberbullying
74, Qe & T JUEHR NI G a1 I8t Wi () O
(A) WA @ (B) W IEg
(C) weRw Q (D) @

The first Indian to receive the Nobel Prize in Lft@tature was .
(A) Rabindranath Tagore (B) Sarojini Naidu
(C) Mother Teresa ® (D) C.V.Raman

a5, S UeE P R ? | :
(A) AT (B) SIS (C) =i (D) #fgs
Which is the capital of Germany ?
(A) Canberra (B) Abuja ~ (C) Berlin (D) Madrid

76. am%m.aammﬁﬁqmam,6,§Jmaﬁm@rﬁmﬁamm%,awf@:ﬁﬁm
Saarel | o8 _

" Find the least number which when divided by 4{@, 8,10 and 12 leaves the remainder 3 in all cases.

a) 120 ®) 117 ® © 123 ORE
77, s ww@n §, 60% A 30 o & arfim o & & A T 75% wea R i Afed ¥ | AR
303@311%353113%:1355@%%,& sifit ot s T o € ?

30 years and of these 75% are males and the rest are females. If

In a factory, 60% of the workers are above
the®tal number of workers in the factory is

there are 135 male workers above 30 years,

(A) . 180 - y (B) 150 4 (C) 1Baa (D) 200
e B it S 1 20% Y FH T ARG 54 31 10 Ber Siforer whe e s € | s o i T
ERT R ? ,

les a man to buy 10 apples more for ¥ 54. Then what is the

A 20% reduction in the price of an apple enab
reduced price of apples per dozen ? ;
(A) ¥10.80 ' (B) %1448 oy (C) T14.32 (D) T12.96

e firerer i, 327 S 13 5 35 g o el e & ik gk T 3 3 6 1 3 ST H T e
%laﬁ_ﬁaﬁﬁmﬂ@ﬁmmﬁm@iﬁwmaﬁqmﬁmﬁmﬁqyaﬂtm1 1%
I A& 2 | a '

In a glass, milk and water are mixed in the rati(ﬁf 3 - 5 and in another glass they are mixed in the ratio of
6 : 1. In what ratio should the contents of thé_wo glasses be mixed together so that the new mixture

contains milk and water in the ratioof 1: 17

1 (A) 27:4 (B) 25:9 (C) 20:7

80, 72ﬁﬁwmﬁﬁogﬁﬁ%ﬁmw%w%la‘r T ST TR
E The cost price of 72 books is equal to the selling price of 60 books. What is the gain percent ?
B) 85% © 20% © 162%

(D) 8:3

(A) 18%
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81.

82.

83.

85.

86.

87.

e e e m o

(A) 4% (B) 48% (C) 66%

TR I T 50 F 60 B v Y @har AT 2 3T 60 F 50 B Y A= war &, Ay ey yReE@ AT E 2

If bananas are bought at the rate of 60 for T 50 and sold at the rate of 50 for % 60, ‘what is the proﬁt

percent ?
(D) 42%'

12, 18, 20, 25waganwuaai(LCM)mﬁﬁﬁm

‘Find the LCM of 12, 18, 20, 25. <]

(A) 900 (B) 920 &C) 860 (D) 880

A e B e 2 120 R e & B,Axﬁm i e & | e e ) 5 R B

ot o S 2 !

A) 10fm B) 70f= C_[C) 75 fam (D) 80T

A can do a certain job in 120 days. B is 60% more efficient than A. To do the same job B alone would take

how many days ? _

(A) 10 days (B) 70 days (B(C) 75 days (D) 80 days

T ST 600 farft it gt 7 grr 80 fori/eie i =mer @, 800 et zas srerer gmT 400 /e 1 =Ter T 3R

100 Fret Aecarsine gRT 50 Reei/ee ot =l S ag T d | ?ﬁt@aﬁ%%qaﬁwww%? »p

(A) snbﬁ:d’rmzr B) 62 forriyeer (€) 65——ﬁm°rﬁlzr (D) 130 ﬁm"rmzr

A person travels 600 km by truck at 80 km/h, <’gb{) km by aeroplane at 400 km/hr and 100 km by

motorcycle at 50 km/h. What is the : average speed(ﬁi' the entire distance ?
(A) 60;55 km/hr (B) 62 km/hr @C) 65— km/hr . (D) 130E km/hr

e 25,220 SO ¥ e ﬁmmg%émmw%ﬁ%ﬁﬁwmﬁ%luﬁmﬁq
A H 5%, ﬁu@m%mmwwﬁﬁm

A woman borrowed T 25,220 and she returned the‘Jmoney in three equal mstalments after one, two and
three years. If the rate of compound interest is S%fjen find the value of each instalment.
(A) 9,000 (B) %9261 | ; (C) T8,261 (D) 8,000

A Toreft S o G et B T e 50% AR e < € | A S O W 1 Q0 F H 27 A A
A B ekt I 386 {1 G497 & 2

(A) 40f= (B) 45fF C) 30fe (D) 35T

A takes 50% more time to complete a work than‘]}ﬂ If together they take 27 days to complete the work,
how much time shall B take to do it alone ? o

(A) 40 days (B) 45 days "{c) 30 days (D) 35 days

Fehdie, saTS W T 3,000 T TR S et § T 6,000%%% | A =R o o fore sart R & 2
A sum of T 3,000 amounts to ¥ 6,000 in two years zgfjcompound interest. The interest for four years is
(A) T6,000 ' (B) ¥3,000 ~{C) 9,000 (D) 12,000

TR o Sifer 7T T 12% ol e 37 % TS, TH THRERR 21% 1 @ ffa e @ | 3fe % 78 g TE adr e,
< =7 foferr wmy arfdfa s 2
After giving a discount of 12% on the marked price of a book, a shopkeeper earns a profit of 21%. If he
doesn’t give this discount, then how much profit would he earn ?
(A) 37.5% . (B) 31.5% (C) 40% (D) 25%

BXV-24,
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89. TS GohTAR T R o Sifehd qe W 10% i g A e | R ST T TR T 3,600 2, T AR e
. IR TR GRART 10% B 3 o G 20% T T 3TfAd AR |
A shopkeeper allows a discount of 10% on the marked price of a camera. If the cost price of the camera is
¥ 3,600, find the marked price so that shopkeeper can earn a profit of 20%, after allowing 10% discount.

(A) T4,750 : (B) 5,700 . ©) f4,§?? (D) ¥3,650

90, A, B 3l C 3w wRrart ¥ sriwr R it e Y3 SR 5 o : 3 9 ) 4 T 3 9, B AT 1,000 St
' Ay firu ofkt 8 7R F w18, C 3% 2,000 fafes fFaw fhg :x%%a:a&%aﬁaﬁ,maqﬂmls:m:nm,
T ypeerTa # C 1 et gra AT | < ? |

was 5 : 4 : 3. After 4 months, B invested

A, B and C entered into a partnership, and their investment ra
he end of one year, if the profit ratio was

% 1,000 more and after 8 months, C invested T 2,000 more. A
s . e oy
15: 14 : 11, then find the investment of C at the beginning. P

L (A) T4,500 (B) %7,500 ©) 3,00 (D) % 6,000
o1, x o L fee L e e b L g L s e pm ez
Ty & fRrg 9w sft P T @ |2 3 iy ke T T 23,000 2, Y Y 4 e T B 2 '

1rd

In a partnership, X invests g th of the capital for -é"h of the time, Y invests %rd of the capital for gr

and Z invests the remaining capital for the whole time. If j}}l the end of the year the profit earned is
Mli

time

¥23,000, then what will be Y’s share ? .
(A) 6,000 (B) ¥4,000 A (CUS, 5]5 (D) ¥5,000
92, UM ab,c,de gt T farew Gt &, A S ofted R X
If a, b, ¢, d, e are five consecutive odd numbers, then their av ] ge is
(&) Yatbrordte)  (B) atd © 6atd D) ede
s <t gt el o e s Y R | AR s e 44, e e
FTR? s 2

Of the three numbers, the second is twice the first and thrice the third. If the average of the three numbers
is 44, the largest number is o : -
(A) 36 (B) 108 _ (©) 24 (D) 72

94, RT3 2025 She et 8, T ST AT e S 12 ¢ 13 2141 12 ;.15 3 39T A g9 SR I I T
wmmw%mmwﬁwwwﬁw’%?
(A) 156 X (B) 150t (© 16OE°JET (D) . 162 AKX

In a 2025 litre mixture of milk and water, the ratio of milkﬁl’? water is 12 : 13. To get a new mixture
containing milk and water in the ratio of 12 : 15, the amount ofy]/ater to be added is

(A) 156 litres (B) 150 litres (©) 160 ies (D) 162 litres
95, e I HE @ AT ¢ :
& Find the next number in the series. R
: 166109014545 <]
; (a) 16 (D12 © 28 @) (D) 18
E: 9. 567 Y75 T T S S e & waiferd T € | s
& W@ ®) fa i (C) B ) (D) ¥ ().
Find the word that does not belong to the set.
(A) Steel (B) ' Tin (C) Copper (D) Lead
e R SR e T TS D s



97. Wﬁm%ﬁmm%w%mﬁwﬁaﬂﬁﬁq

a.  AF23A 28T FHA

b, T STV T I A |
c. TH-U-FH60% aﬁ%mwiﬁaﬁmﬁ@@mz%;m
d. STH 50 H | =ad 25 30 |

e. ARFRITHTHPGTR, ﬁmmwmﬁﬁmmaﬁqﬂ
£ SR e , T e e g2
g IR IEfiTER g HEr A Srea or wvft Aol Y qu s &, o Ty 5 ¥ PR w8 S

g O
ﬁn%ﬁgamm%mmaaﬁrm%%@ﬁq Hft wrlard i st SR

eI TN : 68% 3iehi o Wl MCA | :muma& |m%mﬁzsa&$w | 3 H 40 3fe6 TH
fer

(A)  Iufiear %153 = RS ®

'(B) Sarqaiwg

(©) w5 & Fevrs = o

(D) IFfEaR =t e e Te F w0 & AT ' <
Consider the conditions for selecting faculty members in a computer educétic:g:entre -
a.  Age between 23 to 28 years. - ®

b. Work experience Or programming experience. ) O

c Postgraduate degree in computer application with at least 60% marks. 'd
d. Minimum of 25 marks in the interview out of 50.

e.  Ifthe candidate does not have PG, the case is to be referred to the senior faculty member. .
f  If the candidate does not have work experience, the case is to be referred to Principal of the institute.

g.  If the candidate satisfies all other quahﬁcatrons except the age limit, the case is to be referred to the
Director of the Centre.

Which course of action should be taken for Babli Sarkar based on the followiiﬁinfomaﬁon ?

Babli Sarkar : MCA with 68% marks. Age 30 years. 2.5 years of experienc@aﬁs a programmer. Obtained
40 marks in the interview.

(A) Canldiplatelis not to be selected )

4 (B) Data is inadequate _ : ' G<F}]
(©) Caseis to be referred to the Dlrcctor of the Centre ®
(D)  Candidate is ' to be selected as a junior faculty member
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08, @l ST T Ao |
Find the next number in the series.
1451552975, 205245, 2
(A) 290 9% .. (B 300
@ 295 | (D) 285

99, 52 qﬁﬁ@n@%mﬁmﬁﬁmﬁm@% ?
' What is the probability of drawing an ace frogpja pack of 52 cards ?

3 - 8-
@ 3 | % ®) -,
© = | o )
13 . <] 25
100. ﬂﬁg@wﬁma@%m?ﬁﬁm |
_ Find the next figure in the given series.
AmésEer: 5
Given series : o RACReS o
3 Y
5 (A) | (B) e (© - (D)
101, e i G A ATART ®
Ji Find the odd one out in the series.
E A3, 25, 49,189 _
% (A) G49 (B) E25 | ©) 189 ®) C9
102 ﬁnﬁa@%ﬁﬁﬁ,%smﬁxﬁmaﬁﬁmsﬁ@wmmmwmmﬁ)m%l

Out of the given figures, find the 3 figures thﬁlvill form a square, when fitted together.

> v s
i 1l <|'IV

e s e R L i b e Tt

I
(A) 1 ILII , : ® (B) IL, IIL, IV
. (© LILIV ' (D) LILIV
| _ﬁit'\'rfii'""""'"""""""'"“""""'ﬁa};é‘1'§afii """""""""""""""""""""""""""

Sy Shram e . G e




103. A,cmf%a%;caﬁtqaﬁ%;z,qeﬁw?%aﬁw,zwéér%mn%mﬁaﬁq.mwm%?
(A) QAT
(B) CIHRPaEAE I~
(C) P 3R A == wiE (Hfvim) € |
(D) P, ASTHMIR|

A

A is the son of C; C and Q are sisters; Z j§;the mother of Q and P is the son of Z. Which of the following

statements is true ? Y
(A) Qs the maternal grandfather of A. S
(B) C and P are sisters. c:i]
(C) P and A are cousins. ®)

(D) P is the maternal uncle of A.

104. T WIRET 3 e, AR A1 A A F ki I I 3 &, A e R wfer A 311 frer st | 7w 7 E, ok
ST AT 3 i T T I AT o1 ARGl (6T & | Y Sreeft oht s & 9
(A) Ss4Td . @®), 637 5 & 6B &
(C). 363, , (D) 4538 3 @@

K lady said, “If you reverse my age digi jyou’ll get my husband’s age! He is older, and the difference
between their ages is one-eleventh of thei - um.” What is the man’s age ?

(A) 54 years | O (B) 63|' years
(C) 36 years - &> (D) 45 years
105. i 1 @ de § N ¥ gefa g | =T SATET A 5, HTHHel 11, TV & Heifera & | ¥ = ez

T 3 38 S AR 1 < I R TV o6 T T @ ST < |
Figure I is related to II in a certain pattern. Following the same pattern, figure Il is related to IV. Study the
pattern and select the answer figure which should be placed in place of IV.

P e K
Yo 5 S A B
S q o4 D

I 11 fIr 1\
Iﬂ'{ﬂlﬁﬁf: CJ

Answer figures : e

el . Pt e M et 0 e AT RS el L e e e S e e e TR N Sl S e e e
--------------------------------------------------------------------
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106, 1 R ferit ahr v v

107

108,
. qfomdt STIEY-FIE (ﬁm-ﬂwﬂmrmw%?

Study the figures given below :

m—
: ¢ -
qﬁ%ﬁnmﬁﬁﬁ@rﬂﬁﬁgﬁqa}wﬁqmm@ﬁmr@ﬁ%mwﬁwml

From the figures given below, choose the figurd that will be most suitable to continue the pattern given

&

above.

I I Hl v v

@ 1 @ o Jop m ©) v
e I ?j '
. oquidieramEH o AEHE:? @) | _
@ ®) o Y (D) T
Complete the analogy : . i85 '

Thermometer : Temperature - Odometer ?<] ; _
(A) Distance ~ (B) Speed ® (C) Weight : (D) Pressure

@'am(ﬁﬁmﬁaaﬁéaﬁ(qﬁﬂmﬁt60%;ﬁé;'mwg%§qmﬁammuﬁi%iﬁmm%l

() Eefed (@) | " (B) it (@)
(C) REe (ETEREE) | 7 (D) WawE
A cylinder is intersected by a plane inclined at aﬁﬂngle of 60 degrees to its axis. What is the shape of the

resulting cross-section ? . &2
C] (B) Spiral

(A) Ellipse
(C) Hyperbola @ (D) Parabola
109, T e, gt s o it 7 34 E @m,a%m@maﬂr@aéuw,maawﬁaﬁ% E
4 Qﬁ?aﬂt%ﬁg%iﬂ‘aam%lﬂ.ﬂ?@?ﬁtﬂaa% @z,@aéaawﬁqﬁ%;aﬁaﬁaaqaa%?
(a) fra (B) T  ®© e (D) &
In a conference, five participants are seated in a row: Alan, Bob, Chris, David and Edward. Alan is not
next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ? '
fi (A) Chris _(1_‘3) Alan ) (C) David (D) Bob
BXV-24 i Page 15 of 24 R R e R NS Th Altely
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110. rquT dEamd gra AT |
Find the dissimilar numbers.
(A) 10,15 (B) 5,20 (O 15,60 : (D) 9,12
111. IR ‘BEAR’ Y *25-22-26-9’ & &9 H ifa foha <irerm 2, ﬁ‘f‘TIGER’ﬁ%@fﬁ%ﬁﬁmm?
If ‘BEAR’ is coded as ‘25-22-26-9’, how will T G R’ be coded ?
(A) 7-18-20-22-9 (B) 8-9-12-5-17
(C) 9-10-13-6-17 O (D) 7-9-11-4-17

112, FrerReRa st e 8 e BT f;}

Determine the number of triangles in the foIlowinﬁJﬁgure.

P
A 9 | (B) z. 2(0) 16 J
113, R R e (3oirg) 71 71 | (% |
(A) o (B) ﬂ?rr{ _ _{j(C) CUE . O
Find the odd one from the given altqmatives. s A% _
(A) May (B) Tuly <] (©) June (D) March

114. RqTg e 3 fre i oy site Fioa et ReG-ardr o o 278 |
| YT U AT A & @ & R e | _

ey -

1. @Hﬁwﬁaﬁﬁwaﬁtﬁzr@ﬁmwmaﬂ?ﬂ%l

2. SRETHEHRS| - -
(A) TR a=rE <](B) Farfreed | sfitadi2 o= e

(C) Faafrerd 1 aE - 88 (D) Feae2 AR

Read the Statement and Conclusnons given and dee which of the statement(s) is/are vahd

Statement : An apple is good for an individual’s health.

Conclusions :
1.  Apples are a good way to keep someone hegzlhy and fit.

2. Grapes are better than apples.
(A) Both the Conclusions are valid
(C) Only Conclusion 1 is valid

15, 3R 4 Fad o0 8, @ 345 w9
If ‘4 stands for ‘X’, what is 3#5 ?

fgj (B) Neither Conclusion 1 nor 2 is valid
(D) Only Conclusion 2 is valid

______________
e e N S S T T RS N e o e e e e e e e
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116, AR a~b=a2+b,arb=b2+a B, (3~6) 2 T@HINTI

If a~b=a’ +b,a”b= b2+ a, find (3 ~6) " 2. il . TRy,
a) 19 o ® 18 ; e '
O 2y D) 23 . o, s s
17 ﬁﬁﬁ%ﬂfr%ﬂ?—mmmﬁwé? g _
- (A) W - T (B), T — fafdmmr (C)gﬁfrnﬁﬂ (D) foeett — =
Which (-Jf the following pairs is different from gothers 3 )
: (A) Lion — Roar (B) Cow — Bleat C] (C) Dog — Bark (D) Cat — Meow
118, T U AT : by it
et S : seffie - 9 : : 4 s :
(A) (B) @5 @ © * . (D) =wEA
. Complete the analogy : _ ™ ' _
Engineer : Blueprint : : Chef': : _ :
. (A) Recipe (B) Kitchen (C) Menu (D) Ingredients
119, ST STECHTE ? ' e s
What will be the next letter ?
' t‘lH'II\f,P‘? 4
@, Q B) R g ©) O i (D P

120. aaﬁmmﬁﬁwﬁsmﬁa%mwaw@

E Find out the alternative which will replace the @sﬂon mark.

12:26::7:24 &
} . (A) 6 ®.om . m ©Of e D)2
121, AR v 10 Fef R SACSAE, ﬁswo%@aﬁaﬁtg%%aﬂtﬁﬁ#raﬁwﬁ% < sy s fiig
E aier 3 sy sifem Rufa e 2 -
@) efmRwfmREE B) 9.6 et s fig &
: (©) mﬁm‘nm&mﬁa@r | (D). 116%:ﬁmﬁ4$ﬁa@r

What is your final position in relation to your starting point if you have walked 10 km South, then turned
90 degrees to the left and walked another 6 km
(A) 6km from starting point P e o B 9 6 km from starting point

(C) 10 km from M (D) 11.6 km from starting point
. o T, 60%@‘ﬁﬁﬁ$ﬂAa%3ﬁt40\a@ﬁ$ﬂBﬂwﬁm | et 500 I A, T ot
<At ¥ frekea A 1 wEe R ? 7 X A
In a survey, 60% of people prcferred Option A%nd 40% preferred Option B. If there were a total of 500

respondents, how many of them preferred Opu@ A?

(&) 300 (@) 40, @ © 10 (D) 200
_zﬂnﬁa@rmﬁmﬁﬁwmaﬁﬁm ' :

Find the ne number in the given number series.
126 12, 3@ 8470,




o g

124. 37T sf@ret & ST ST TR A
Find the next lette ter i iven serics.
BA,YIE, N@g XU, .
(A) XY (B) AY ; (C) cY (D) BY

125. Frefeiiem 3 & -ar sviva e, waft aﬂrgﬁ%aﬁa%ﬁﬁuaﬁﬂa@rmé’rﬁm% ?
Which of the following diagrams best illustrates th%elationship between Pigeon, Bird and Dog ?

(A)\@O ®) ' oém Cg o g

126. 40 it 1 v e 8, 20 ey S e @) 1%@%,?@%%#“%%1?11%

% sl foremeff 3 ot e, o sfte R, o TR | 3 ferenfefat At s s Ao Reediy it
S Sfer forgrr 3 0 <) &

In a class of 40 students, 20 have chosen only Bioﬁy and 15 have chosen Mathematics, but not Biology.
Given that every student has chosen either Mathe tics, or Biology, or both. Find the number of students
who chose both Mathematics and Biology. ®)

(A) 40 ®) 5 (C) 20 2 D15
127. RuTe argws & qu we g i | '

Find the missing number in the given analogy.

25262535 : _
Aa) 1115 ® 1225 <o) 825 (D) 865 ,
128. ﬁmﬁw-ﬁﬁmﬁgmgam%ﬁt_zzﬂﬁmmagmiawmmmﬁmﬁﬁgm
(A) ufEm \(B) SW-gd ' -%C) LGl (D) =feor-qg
What direction are you facing at the moment, if yowStart by facing south-east and turn around 225 degrees
anti-clockwise /2N 3 . e &)
(A) West (B) North-east  <|C) East (D) South-cast
129, ?ﬁwmmﬁmﬁuﬁﬁéﬁ@ml”-éisqﬁ@&mqaﬁ%ﬁvh%aﬁ‘ﬁéa@’mmwm
o .
(A) SieeaT (B) WIRaE (C) 3y (D) TFER
“The company’s decision to downsize was prudent.” What does the word “prudent” imply about the
company’s decision to downsize ? - :
(A) Hasty (B) Careless ,\'/}C) Reckless (D) Wise
130. P3RQ, SHT=AE I P RaTaEy o
ot msramrméﬁaﬁmmu)aﬂt(z)iiﬁﬁq-n@]anam%/%?
(D) RPHFERATH AT ®

(2 U,QFfinig

Q) |
@A) ardqyare) (@) () ) FaA)
P and Q are children of S, Who is the father of P ? D) T

- answer this question which of the statements (1).and (2) is/are .necesls v ?
M R 15 the brother of P and the son of T. @ 4
() U is the mother of Q.

(A) Either (L) or (2)

__________________

________________



; 131. ﬁQWMﬁ?ﬁﬁaﬁt@%mwzﬁé} i A aver, AT B giEd 3 TES STE A sew & e, HA-E

i . HRETIAGVSN :
: II. FLNESAGOMI <
; . EXSONHTIAU o3
(A) e I  ® Fmanm ) © LI (D) Al

After exchanging the 3™ and 6" letters and the@j‘ and 9™ letters, as well as the 5 and 10™ letters in the

given words, which series would result in a meayiiy gful word after this rearrangement ?

I.  HRETIAGVSN i
II. FLNESAGOMI

. EXSONHTIAU <]
(A) Only III (B) Only II, III @ () .AlILILII; (D) Only II

; ﬁﬂmw%ﬁqﬂwﬁ@rﬂ:—mwﬁquPmsmEm-%aaﬁﬂmmwtﬁm

ST HehT |
Determine which of the provided words cannot be formed using the

PUNISHMENT.

letters of the given word

(A) PUSH (B) SENT < (C) PENT (D)_PAIN

: MWW%%WW,W&ﬁWq@%&15ﬁ=|?:ét€rq§a?ﬁ%laﬁmﬁmaﬂt
m%ﬁaaﬁaﬁmmﬁﬁwﬁwmﬁamé?
(A) 48fHe (B) (45 firfe ® (© 3s5fme (D) 44fE

Walking %th of her normal speed, Athira is 15 @nutes late in reaching her office. What is the usual time
taken by her to cover the distance between her héfhe and office ?

(A) 48 minutes _ (B) 45 minutes 4 (C) 35 minutes (D) 44 minutes

; ﬁﬂ%ﬁﬂﬁaj@ﬂTﬁxaﬁTyﬂqﬁw?ﬁﬁQ: '

Find the value of x and y in the following series :

U4, R8, 016, x,164, F128,y |
(A) MB32, B345 (B) G32,E256 (C) 132,C256 (D) K24,D345

11 vt aTeh e Bre AW &1 FHH 29 FW # &, iR fre 1T S & TR a @9l ¢ | Al FEE AN
ﬁ%-mﬁmﬁ@sﬁmmﬁ%%aﬁm%ﬁﬁmm@wﬁ affea g | 3 I F
2\ Fufr g AYFR? ‘ 4
@) 243 - (@B 21 (©) 2258 (D) 2334
The captain of a cricket team of 11 members is ears old, and the wicket-keeper is four years older than

. the captain. If the ages of the captain and the widket-keeper are excluded, the average age of the remaining
players of the team is two years less than the average age of the whole team. What is the average age of

.the team ?

(A) 24 years ®) 2lyeas = ¢ (C) 22years (D) 23years
. Rumuad, : frg ¥ aé o A s &, < orel g A 1 gU E | <l ¥ 3R 3wk A faw AR ot 7 @
@%aﬁmﬁaﬁmw%mﬁﬁmmﬁ@u
ot it A ? | _

(A) & B @& ' (©0) et (D) dtem
In the given question, there are two words to the left of the sign :: which are connected in some way. The
. same relationship obtains _bctween the third word and one of the four alternatives under it. Find the correct
= alternative. S '
E Sugar : Sweet :: Lemor_l il , ;
. (A) Fruit -~ - (B) Juice - (C) Sour (D) Yellow ..
 BXV-24. Tapo IO oE e g
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137.

138.

139.

140.

141.

142.

143.

144.

‘A $ B Fraf R A, BRIRRIY; ‘A # B F AR ‘A, BRITIY; ‘A x B H IR A, BRTEAC,
WH#HXXVSURW, UBFA Gl ?

(A) W™ B) =t o) T g o1 (D) Hl??f_

If ‘A $ B’ means ‘A is the father of B’; ‘A # B’ means ‘A is the mother of B’; ‘A x B’ means ‘A is the
sister of B, then how is W related to Uin W# X XV, $ U ?

(A) ‘Mother-in-law (B) Mother C) Grandfather (D) Grandmother

%ﬂiﬁfiﬁ Ehllﬁﬁ 48 =7 319 “which school” & 37 9 EFT a7ef “college and school” 2 Weﬁ f%—lt{mw
?

In a certain code, 48 means “which school” and 93 means “college and school”. What is the code for
school ?

@) 9, gy ®) 16 © 8 . D 4
mﬁmﬁmﬁaﬁtaﬁmwﬁﬁmwmmﬁsﬂﬁm%o -
(A) _ Sforafim (B). SW-0d (C) afeorgd . (D) Sut-ufEm
A person walking towards North-West direction sees his left hand in which direction ?

(A) South-West (B) North-East () South-East (D) North-West
§@eT 9, 72, 243,576, G R g '

Complete the series 9, 72, 243, 576,

(A) 876 ®) 998 &y 1250 (D) 1125

afc DEEP & 30, SEAaﬁzs%mﬁﬁ%a%w%,aMRﬁmmﬁﬁ%am

ST 2
If DEEP is coded as 30, SEA as 25, then RIVER wilkbe coded as

(A) 56 —(B) 72 s a8 S ALY\ 20 ' (D) 15
frefaRad sfeen 7 3@ i s’ € ST K & 3% vt IR K & Jieh o a1 & 7

How many ‘S’ are there in the following series that come immediately before K and immediately after K ?

. SSKSKSRKSPOKSKSKS a— gy s
A) 5 .y ©) 4 | P &
1L X#yFremefex y@ad oo
2. Y$Z¥ ARy, ZHmmaEe | ol
3. zrAfmwmefEz ARSI - 4
A Y B) Z gC) X (D) A
1. X #Y indicates X is the mother of Y. 4
2. Y $ Zindicates Y is the brother of Z.
3. Z* A indicates Z is the daughter of A. '<J
- Then who is the father of the family ? . _ .
A) Y B) Z © X ") A
2T A ST Tk ARk SO bl 7T 1 ohieh T el & 3T Rt 90 et smareret ot 3w = 180 feft et
TS @ | 379 36 A 1 e fopw famm ot 3R 2 -
(A) | (B) IW (C) R

: ;.,A person Perfolmlng yoga starts facing North and then turns 90 degrees counterclockwme followed by
another 180 degrees counterclockwise. What direction is the person facing now ?

M - SESSGR ... . T i

(A) West %  (B) North (C) South ¢ (D) East
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. 145. TEHM YE J1q I |
g Find the dissimilar term.
3X5, 4U3, 2R4, 302, IM3.
(A) 1M3 (B) 2R4 (C) 4U3 o) 3902

146, 3TEET W& I19 AR |
Find the dissimilar number.
1, 3, 12, 60, 340.
A) 60 | ®B) 3 (:l (C). 712 (D) 340

| 147, PR A e

& A

@

Which among the following is not a leap year ? C] i
: (A) 2014, (B) 2024 ¢a (©) 2020 (D) 200 o
148, PR - e s o o SR e & - S
. 36 AR TN S AR i
F ﬁzﬁw%mﬁﬁ#@ﬁﬁﬁﬂm @fawra 4)

PR M 1T

e N

ﬂﬁgﬁﬁﬁ@ﬁﬁﬁmﬂ%maﬁwmﬂoﬁoaEﬁiﬂgmﬁ%mmﬁﬁm@ém?
(A) 22,500 (B) T22,800 () 20,100 (D), 21,000

The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a

book. Study the pie-chart and the answer the question based on it.
' Various Expenditures (in percentage) Incurred in Publishing a Book

Promotion Cost
10% <]
Printingy
Cost O
Rc;;sroa/lty 20% - Transportation Cost
- o 10%
Binding L e e
20% Paper CO’S_’I;] .
25% o
' If the printing cost for a specific quantity of books amounts to ¥ 40,200, what will be the expenditure for
£ promotion of these books ? _ it | :
r (A) %22,500 (B)_ E ??:qqg______ _____ (E)__iz_q,IOU D) 21000
e e R TR ] T N i s




149, WWW-WWW%MMWW;E%WU&W%?

3T 32,500 R, At S AT FHEH THI &9

T R 1 ]

(A) T11,000 (B) %18,500 - (C) 11,700 (D) 12,200

The pie chart provided shows the percentage breiliown of a family’s domestic Expenditure. If it is given
that the family’s total monthly income is T 32,5001 then what is the total monthly amount spent on food
and entertainment combined ? ' :
Domestic Exp%’imre of a Family
" Provident Fuﬁd}

Medical
- 12%

House Rent

Lo

(A) T11,000 ®) T18500 () =11,700 (D) T 12,200
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In an office, 30% of the staff is female. 60% of the female staff and 40% of the male staff are married. The
percentage of the unmarried staff in the office is

() 34% B 2% (O 48% D) 46%
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